Subject: /proc/user_beancounters and vzlist giving different outputs
Posted by blunt on Fri, 07 Dec 2007 21:40:46 GMT

View Forum Message <> Reply to Message

well | created a script for checking my ram usage.

Using the output of /proc/user_beacncounters, the total bytes of ram being used are: 20931303
with vzlist -0 with the same fields that | use with the beancounters, the sum is 20847588.

I've checked for differences, and at least kmemsize show different values in user_beancounters
and in vzlist -o kmemsize...is this normal? Which one is the correct one?

Thank you
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